
SAP ABAP table T5M7S {Results of a Step in the Payroll Run (HR DK)}

T5M7S

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

ABRLAUF [NUMC (6)]

PAYOUT [CHAR (1)]

STEP [NUMC (2)]

SEQNO [NUMC (6)]

T000

MANDT [CLNT (3)]
 T5M7S-MANDT = T000-MANDT 

0..N

1

T500L

MOLGA [CHAR (2)] T5M7S-MOLGA = T500L-MOLGA 
0..N

1 T5M7D

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

ABRLAUF [NUMC (6)]

ABKRS [CHAR (2)]

PABRJ [NUMC (4)]

PABRP [NUMC (2)]

 T5M7S-ABRLAUF = T5M7D-ABRLAUF 

0..N

1

T5M7I

MOLGA [CHAR (2)]

STEP [NUMC (2)]

 T5M7S-STEP = T5M7I-STEP 

0..N

1


